200800 OO II MOoQgAd

e JOOODOODOODOO10O0DOODODO

e NODODODOODODDODLOODOODLODDOODODODO

oo1

VOOOOODOOOO0Ox,yeVOOO0Ox0y0O0O0O (x,y)J0DOO0000x0000 ||x|0000
000f0VOOVOODOODOOOO0OO0OO0OO0O0O0O0OO0OO0O0O000000

(1) fOO0O0DO0O0O0OO0ODOOOOOOOOOOOOOO

(2) 00D x,y € VODODODDOOODO00000000ODO
%+ yl* = llx =yl = 4(x, ). (1)

(3 f00D00D00D0O0DOOOODOOOONOOxeVOO0OO ||f(x)|=|x|00000000000
00000f00000000000000

oo 2

oobcOobOoooooboobb cOooobOboboooooobboobooboobooboboobOobOonooo
0000000 *00002000000 x0yOO0OOO x*yOOOODODODAOnxnOOOODDODODO
0000 A*A=AA*=F0O E000O0O0OO0OOOOOOODOOOODODOODODO

() ADODODOOOOOOOO0ODO 100DO00OOOOOOooOOoO
00000 Ax=x0O0OOOO*00Q0oC0ooooooooOo

(2) ADDOOANDDODOOOOOODO xO0O000O000O00x0 A~'0000ADODOODODODO
ooooobooooo

3) xUyO ADUDOOOOOOOUOOOOUUOOOODOOOUOOO0O0OOxO0 yOOOOOOooOOoODOOO

o0 3
00
c 0 —2¢
A= -4 3 5
c 0 —2¢

gooooooooogoo
() ADODODDOoOOOOooOoOoOoO

(2 ADODOUODOOUUOUOCOOOODOOUOcOO0OUODOOODOOOOODDOOUODOUOOOUODODODOO
gooobooooooboooooon

(3 ADDOD0OO0OOUUO0OU 10000000 2000000000000 D0O0DOOUODOOODOOO
ooboo1o0000ooboboog 200000

(4 ADDODDOO0O0OOOOOOOOOOO0 2000000000000 OcO0DOUODDOOOOOOUOO
goboo1oo00o00ooboog 3pooooo



